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Note : Answer any 10 questions. 

1. (a) Explain the term 'scaffolding'. Can 

text-books be a way of scaffolding learning 

at any stage ? Justify your answer with an 

example. 	 4 

(b) Rashmi argues that if a child can get the 
correct answer to a mathematical problem, 
she has understood the underlying concept. 
Do you agree with her ? Give your reasons, 
using examples to support them. 	 3 

(c) If we multiply two natural numbers, we find 
that the product is greater than or equal to 
either number. Uma says that this is true for 
integers also, but not for fractions. Do you 
agree with her ? Explain your answer, giving 
examples. 	 3 

LMT-01 	 1 	 P.T.O. 



2. (a) Give 3 key differences between the banking 

and constructivist models. Illustrate them 

in the context of Class-2 children learning 
to represent data. 

(b) 'A mathematical definition is an axiom.' Is 

this statement true ? Give reasons for your 
answer. 	 2 

3. (a) What is the meaning of the statement 
"Children cannot conserve unless they can 
reverse their thought processes" ? Explain 

this using examples. 	 4 

(b) Consider the following hypothesis : 

"Girls studying in Class-V are taller than 
boys studying in the same class." What data 

is required to test this ? How would you find 
the mode and median of this data and what 
would these indicate about the heights ? 

How would you use your data to decide 
whether the hypothesis is correct or false ? 	6 

4. (a) List two situations in the real-world where 

children would come across "chance". Give a 
series of 3 activities to help 10-year-old 

children build an understanding of 
"chance". 	 7 

(b) Give an example, with justification, of a 
numeral system which is not a decimal 
system. 	 3 
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5. What are the steps for solving a mathematical 
problem, according to Davis and Meyer ? 
Illustrate the steps in the context of solving the 
following problem : 

There are 40 children in a class. These children 
can speak in either English language or Tamil 
language. 35 children can speak in Tamil while 
10 can speak in English. How many children 
speak both languages ? 
	

10 

6. (a) Draw a diagram showing the food chain for 
a tiger in a jungle. Give 3 misconceptions 
that children usually get from such 
diagrams. 	 5 

(b) Give a game and an activity which is not a 
game, for helping children of Class-5 develop 
their understanding of symmetry. Explain 
why the activity chosen is not a game. 	5 

7. (a) How would you help children who are 
reading maps of a country and the world 
realize that a small edge or a curve 
represents a large distance ? Design a 
series of three tasks that would help 
children realize this fact. 	 5 

(b) Design a series of three activities to assess 
Class-4 children's understanding of addition 
of fractions. 	 5 
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8. Which of the following are correct ? Give reasons 
for your answers. 	 10 

(i) An equilateral triangle has three lines of 

symmetry. 

(ii) You can always find a fractional number 

between any two fractional numbers. 

(iii) A good activity must involve the child 

jumping around and playing. 

(iv) Children are not blank slates when they 

come to school. 

(v) The LCM of a set of numbers is greater than 

the largest number. 

9. (a) There is no difference between the capacity 

and the volume of a 3-dimensional 

container. State whether the statement is 

True or False ? Why ? 
	

3 

(b) Give two distinct activities for helping 

children of Class III understand "place 

value". Why are these activities appropriate 

for Class III ? 
	

4 

(c) What is the difference between a base 5 and 

a base 8 system ? Explain this by showing 

the addition of (29)io  and (33)10  in both 

systems. (Here (x)10  denotes the number x in 

base 10.) 
	

3 
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10. (a) According to Jean Piaget, "Very young 
children do not maintain a consistent 

criterion while classifying objects". Explain 
this statement using two distinct examples. 	5 

(b) Prove that there are only three kinds of 
regular tilings. 	 5 

11. (a) Why is it important to develop the ability of 

estimation in children ? Give an example to 
illustrate its significance in the context of 
developing a spatial sense. 	 4 

(b) Are the processes of 'abstraction' and 
`generalisation' in mathematics the same ? 

Explain your answer through examples 
pertaining to 'variable'. 	 6 
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